A= ol & Al
20108 = 20ilat LEtelH Sets ~ SUs
SN
SHS FUHZANUASS 2
SME FOUMSI HE)
A B2 S(3I) - MRAY - B8 ﬁfﬁiﬁ 2t
515,365 203,501 311,864
S FUHIANUAES L5 159,973 151,678 8,295
ts FULSIRA 159,973 151,678 8,295
tts FUNIHEH =S 15,000 15,000 0
201 2er=gl 15,000 15,000 0
01 AtR2teld 15,000 15,000 0
O FUXXAEH 24| 15,000,000 * 14| 15,000
s FUHFHES 76,580 76,580 0
301 LEtEHS 76,580 76,580 0
05 -2l -HFEs2d3 75,580 75,580 0
O s&=¢ 200,000 x211 %12 50,400
O S&d0= 200,000& »2121%23 8,400
O S&32 FH=+< 20,0008 *2121%23]*12& 10,080
O eragstl 50,0003 *134¢1 6,700
10 eANEHIEd=S 1,000 1,000 0
DEYHAS AT AH2a3
1,000,000 *14] 1,000
ths BAZ2g 2l 22,032 17,877 4,155
201 et 12,032 12,877 AB45
02 =34 12,032 12,877 A\ 845
O 332=s % HAl 11,032,000 » 14! 11,032
O AN ZHI=AH 1,000,000 * 14! 1,000
401 AlZHIZ 28I 10,000 5,000 5,000
01 Al&HI 10,000 5,000 5,000
O FAE+=3AHXIS, 5 10,000,000 =14 10,000
s HIAA 40,361 36,221 4,140
201 Ler2gY] 18,761 17,761 1,000
01 Ab=2teld 13,883 12,883 1,000
Oget+=EY| 12,883,000 * 14 12,883
OXgE = 1,000,000 * 14! 1,000
02 523t 4,878 4,878 0
OoRERs 4,878,000 *14] 4,878
202 o4l 21,600 17,760 3,840
01 =UWol 21,600 17,760 3,840
OJlzge==oidl (102 1,800,000 x 122 21,600
ts FoUAZ 222 6,000 6,000 0
405 Xr&HH S| 6,000 6,000 0
01 MM =SFHSHI 6,000 6,000 0




SN BAS
HH: SME FOUBBMUAES 23
Sl BAS FOMBX (el & 2
. _ o HEG =
SN-EHH . SH(BH) - HPAY - BE2 O] Ak 4 il b o B2
IIEETEEIB] 6,000,0002 *14] 6,000
SUE AT 307,059 4,750 302,309
SUE APD TS 307,059 4,750 302,309
SUE APD FUSAAY 302, 160 0 302, 160
401 Al&HIL 20| 302, 160 0 302, 160
01 Al&H] 300,000 0 300,000
OATS FULAAMY L XN LAL
300,000, 0002 *14! 300,000
03 Al& S CH| 2,160 0 2,160
OA& ST 300,000,000 x0.72/100 2,160
SUE CREY 4,899 4,750 149
101 @24l 4,899 4,750 149
04 JIZH22HS L4 4,899 4,750 149
O E2HEYZHY| 42,6002 ¥501 132 2,769
O AFHEX ZAB2l 42,6002 501102 2,130
24E By 48,333 47,073 1,260
24E o2yl 34,649 34,049 600
SUE o2 YY) 34,649 34,049 600
101 o124t 24,609 24,609 0
01 24 24,609 24,609 0
O N2e2esy 7,45721%1121%300A1 2+ 24,609
203 YREZY| 10,040 9,440 600
01 IS YR =AY 6,600 6,000 600
O Jla2YYR =Y 6,600,00024 *12! 6,600
02 HRAIAYRETY| 440 440 0
O FAINYL=TY| 40,0002 #1121 440
04 EN2YARETY| 3,000 3,000 0
O 2N2YYeEY| 250,0002 * 128 3,000
24E =Y 13,684 13,024 660
S4E =By 13,684 13,024 660
201 LByl 2,424 2,424 0
01 At 2relb| 2,424 2,424 0
ORN2Y 2+ 1,500, 0002 *14! 1,500
o3zl 7,008 %1121 %128 924
202 01t 4,160 8,000 3,840
01 =2Uoibl 4,160 8,000 3,840
Ozl oyl 2,000,00021 *14} 2,000
OJ1= 248 0{H| (121) 180,000 * 122 2,160




SN BAS
I 2Ms #M2AZY
el Sas Jl=3 |
FAH-FH-SASA) - NRAE - BE=Z Off &F OH g
e o i o ) ° _I_ (= (] 04”:"%
405 XtobE SHI 7,100 2,600
01 T =S FH SHI 7,100 2,600
O PC 1,300,000 *4CH 5,200
O dolMEgH 700, 000& +2CH 1,400

O 294 500,000 =1CH 500




